I HEFREENTE

)

B 18] :60 44

#4100 9~ +10

O 83 O

&S| — = = g E i1 AN + |Kt@&@m| 2 5
=49
_siﬁgo (&5@2 57\,-#\‘20 51\)
1. IO l:;-».Z 3 4 5.6 7 8 9 10 | 0 lwx2 3 4 56 7 89 I().
- TS ) XK AE SN ) JE K
2. 2 x4 =( ), HH 2 4 #f R ( ) FRE( ) o
3. =R EA( ) A H PR KRR 7 2 ( ) o
4. H 65 223 BIEE( ), LB 75 2D 54 B ( ) o
5.3+3+3+3+3+3=( ) x ( ). 64+6=( ) X ( )
6. 1% =( ) B 28 JEX - 14 JEX = ( ) JEK
7. —AEH S F LM, 3 Z1E5 ( ) i AEHR, 6 440 ( ) A
8. T HEAORHETE,
( Yo g pu( ) =+ =( VB
—( )—+ ( )+ ( IAN=T
9. HHE,A( ) R B, ( ) B, A ( ) H
A )M, D >
10. ZEOEHLE > <8 =7,
1% (O 100 JEx 50 Jaik ()5 % 4x3()3x5
28 +7 ()35 -8 21 +15 ()5 x6 32+32 ()80 -20
=BT, (HHAEIET VT S X" ) (6 4)
. $rFEP Ry 18 JHXT, ( )
2. 2 x5 15 x2 (i FEERAER, ( )




3. R, f R,
4. 97 -38 +25 Al LASET N .
5. 6+6+6+6 FFEHFERIEO6 %6,

6. EHEMEKHILEAH 4 N, BB EMA.
= EE, (BERALEWNHATRAIETN)(12 o)

1. 4945 B 165( )o

AN AN AN N

A. ¥ B. Ji
2. FE 15 30 ( )o
A. 10 +5 B.20 -5 C.3 x5
3. %EE‘]*%‘( )N
A2 B.3 C.7
4. 115 100 - (27 +36) BYE B ( )
A fm | B. U,
5. WOIBEE 4 IR, T 6 T6, —HFEE( ) TCo
A.10 B.24 C.12
6. NEFRILHON,EIRFHS( ) XEEFS
A.10 B.5 C.20
Mt E, (18 4)
1. 08, (6 %)
40 +37 = 89 —50 = 68 — 8 = 34 +24 =
75 -25 = 88 —40 = 5x4 = 3x2=
1x5= 64 —34 = 47 =17 = 16 +31 =
2. R HE, (12 )
80 -35 = 72 +19 = 83 -57 =
34 +26 +17 = 28 +59 -39 = 76 -24 +39 =

O 64 O

@EN 00000 OO



R EE, (6 )
Lo — 2k ke 8 JHK 5 3 K M2k Bt o

2. G5 m—AFA A — A

NFEINKXHHE, (8 %)

Ri &bk
oo

Y%
?

t EREE, (30 %)

O

O

O

(1)

= (%)

I. 68 NTEBKY,GET 29 N, 3URT 16 N\, BLERLZ L AN? (54)

2. —HHE LD ANHEM? (5 %)

o 'v'“ - ! iz
adh B ch Byt T
N R I N 1S o N o R N7

O 85 O
[=]:#7 IEI

*f;-‘:-'i' 0



3. (DEFEEREHELT? (44) ﬁ@ )
W

547C 457C

(2) % 100 T —4 ERFI— 541, 5057 (4 %) [

i HITT (4 4 .-
4. (1)LAFHAFEELELDT? (4 5) 0,®:> «(@

(2) B T 20 T, 483K 3 HU/NRERN 3 Mk, 518 ? (4 &)

(3) frik GE4R th HABEFE R H A D 7 (4 &)

BN, (10 %)
RARM—BINEER JB— IS T A E L SR T 7. 146 i
3EMT 8, RGP MFE 100, A8 —A, IER A L %R 2/

< 56 O

SN 00000 00




